Laampron

Power & force

NNNoCTpMpOBaHHbIN KaTaNor 3aMacHbIX YacTen

Mopenb: GB226

26

Ne ApTUKYAN HaumeHoBaHue K-Bo Ne ApTUKYAN HanmeHoBaHue K-Bo
1 03010010077 Bont M5x55 2 21 03010010058 Bont 4
2 02050010017 rnywurens 1 22 026141110 MaxosuK 1
3 02020160064 MpoKknagka rnywurens 1 23 02050030023 MarHeto 1
4 03010080011 Bont M5x25 2 24 03020020054 Bont 4x20 2
5 70070130010 Unannap 1 25 02070010048 MpoKknagka nog marHeTo 2
6 02070010032 MpoKknagka umnnHapa 1 26 L7T Cseua 3aXkuraHuma 1
7 02020020003 Konbuo nopwHesoe 34 mm 2 27 02050050171 MpoBoA, BbIKNOYEHWUA 3aXKMUTaHUA 1
8 026121100 MopweHb 1 28 02040030020 BTynka coeanHuTenbHas 1
9 02020010004 MNanew noplwHa 1 29 026114710 Mpoknagka nog renaons3onaTop 1
10 03090020018 MoawnnHMK Nnanbua 1 30 70030020016 Tennounsonsatop 1
11 02020030017 Konbuo ctonopHoe nanbua 1 31 03020020012 bont M5x20 2
12 02020120025 KoneHsan 1 32 02070010071 Mpoknaaka nog kapbtopartop 1
13 03090010028 MoawnnHmK KoneHsana 6001 2 33 02050020018 Kap6topatop 1
14 03100010032 CanbHUK KoneHBana 12x22x7 2 34 70080120007 Onopa Bo3ayLWwHoro ¢puabTpa 1
15 02070010119 MpoKknagka KapTepa 1 35 03020020043 BonT KpenneHusa onopbl GUAbTPa 2
16 03060010002 LUTndT KapTepa 2 36 02090010011 DunbTp BO3AYLWHbIN 1
17 5060010310 LLInoHKa maxoBuKa 1 37 70030040078 Kpbiwka Bo3aywHoro ¢punbTpa 1
18 70070050107 KapTtep cTopoHa maxoBuKa 1 38 70030180012 BonT KpenneHus KpbiLKK 1
19 70070050106 KapTtep cTtopoHa ctapTepa 1 39 026121100 MNopweHb KoMNAeKT 1
20 02050100032 Mnata cobauek ctaptepa 1 40 70080120196 MopwHeBan rpynna KOMNAEKT 1




Laampron

Power & force

NNNoCTpMpOBaHHbIN KaTaNor 3aMacHbIX YacTen

Mopenb: GB226

Ne | ApTtukyn HaumeHoBaHue K-so Ne [ Aptukyn HaumeHoBaHue K-80
1 03010060059 bont M4x14 1 24 70030160148 PyKoATKa BepxHAA 1
2 03040010007 LWanba 4 1 25 02080020046 Haknagka pyKkoATku npasas 1
3 70030030737 KpbiwkKa BeHTUAATOPA 1 26 03010040016 BuHT 4,2x10 1
4 7008010039 Craprep B c6ope 1 27 03010040056 BuHT 5x20 2
5 02020110048 Mpy»X1Ha KPbILWKN BEHTUNATOPA 1 28 02050050021 MpoBoAa BbIKNIOYEHUA 3aXKMUTaHNA 2
6 03040050017 Larba 1 29 51010030090 [Asurarenb 1
7 02020160312 LTMT NpyKuHbI 1 30 61370010005 LnaHr npaimepa 1
8 02080020046 Haknagaka pykoAaTKku nesas 1 31 02080030025 YNNOTHEHME TONAMBHOIO LWAAHTA 1
9 040504012 BbikntovaTenb 1 32 61370010004 LLinaHr TON/IMBHbIN 1
10 02050050021 MpoBoAa BbIKAOYEHMA 3AXKUTAHNA 2 33 02050120002 PUNbTP TONAUBHbBIN 1
11 70030070471 Pbiyar rasa 1 34 02110020026 Mpo6bka TonnmeHoro 6aka 1
12 02020160398 durKcaTop pblyara rasa 1 35 02050040087 Tpoc rasa 1
13 03040020019 LWaiba 5 9 36 02060020003 BapabaH cTapTepa 1
14 03010010070 Bbont M5x30 4 37 02060020009 Mpy*KnHa cTapTepa BO3BpaTHan 1
15 02020160117 OnopHas nogyLkKa 4 38 70030030317 KpbllwKa cTapTepa 1
16 | 03020020017 BuHT 5x10 3 39 03020020015 BuHT 4x30 3
17 70030090006 KpblabyaTka 1 40 01050010009 LLIHyp cTapTepa 1
18 70030010395 Kopnyc Kpblab4aTku L 1 41 70030140012 PyKkoAaTKa cTaptepa 1
19 | 70030010394 BuHT 5x16 8 42 70050010188 Tpy6a A 1
20 | 03050010007 Lati6a 8 1 43 70050010067 Tpy6a B 1
21 70030010394 Kopnyc KpbinbyaTkm R 1 44 03040010014 LWarba 8 1
22 | 70050030063 Bak TonAunBHbIN 1 45 03040050005 Llar6a 23x8x1 1
23 70030160093 PyKoATKa HMXKHAA 1




